PLUS

Multistage Horizontal

Stainless steel multistage horizontal pumps. Pumping of clean non-loaded

fluids, pressurizing system, irrigation, drinking and glycol water, water
treatment, heating and air conditioning, washing system.

Construction features

Pump body, mechanical
seal housing

stainless steel AlSI 304

Motor bracket

aluminum

Impeller, diffusers

Noryl®

Mechanical seal

ceramic-graphite-EPDM < 6 impellers
graphite-silicon carbide-EPDM = 7 impellers

Motor shaft

stainless steel AISI 303

Liquid temperature

-5+ +35°C

Operating pressure

max 8,5 bar

2 poles induction motor

1~ 230V-50Hz

3~ 230/400V-50Hz

(with thermal protection up to 1,85 kW)

Insulation class

F

Protection degree

IPX4

P3 -120/6 T

| §

type

No. of impellers

nominal power HPx100

- nominal flow-rate m3/h

142



PLUS

TYPE AMPERE Q (m?/h - I/min)
p2 P1 1~ 3- 0 0,6 1,2 1,8 24 816 4,8
1~ 3. (kW) 0 10 20 30 40 60 80
1x230 V | 3x400 V H(m)
HP | kW | 1- | 3- | 50Hz | 50Hz
P 3-50/2 P3-50/2T 0,5 0,37 0,45 0,46 2 0,9 20,2 18,8 17,3 15,3 13,7 9,5 4.9
P 3-70/3 P3-70/3T 0,7 0,51 0,65 0,63 29 1,2 30,0 27,9 254 23,0 20,3 14,0 6,7
P 3-90/4 P3-90/4T 0,9 0,66 0,9 0,88 4,0 1,8 40,8 38,3 351 31,8 279 19,8 10,4
P 3-100/5 P3-100/5T 1 0,75 1,06 1,01 4.8 1,9 52,2 48,9 451 40,8 36,0 254 14,0
P 3-120/6 P3-120/6 T 1,2 0,9 1,23 1,23 5,6 2,6 62,8 58,7 54,5 49,6 43,9 321 18,3
P 3-150/7 P 3-150/7T 15 1,1 1,54 1,45 71 29 755 71,3 66,6 61,2 54,8 411 24,9
TYPE AMPERE Q (m%/h - I/min
o P1 . 3 o [ 18 [ 2436 ] 48 | 6 | 72 | 84
1~ 3- (kW) (0] 30 40 60 80 100 120 140
1x230 V | 3x400 V -
HP | kW | 1- | 3- | 50Hz | 50Hz
P 5-70/2 P5-70/2T 0,7 0,51 0,61 0,58 2,7 11 22,0 197 18,7 16,6 14,0 10,8 6,8 1,8
P 5-80/3 P5-80/3T 0,8 0,6 0,86 0,79 3,9 1,5 334 30,3 29,0 26,0 22,5 17,6 12,0 3,9
P 5-120/4 P 5-120/4T 1,2 0,9 113 113 5,2 25 45,3 41,3 39,6 35,6 30,8 24,9 17,6 6,4
P 5-150/5 P5-150/5T 15 1,1 147 1,39 6,8 2,8 56,8 53,0 51,0 46,1 40,1 33,3 24.8 1,5
P 5-180/6 P5-180/6 T 1,8 1,3 1,7 1,62 7.7 3,0 69,3 64,4 62,0 55,6 48,2 39,6 28,8 12,0
P 5-200/7 P 5-200/7 T 2 1,5 2,0 1,86 9,0 34 80,3 73,6 71,0 64,5 56,1 46,0 334 12,5
TYPE AMPERE Q (m/h - I/min)
P2 P1 1~ 3- 0 24 3,6 4,8 6 7,2 8,4 9,6 10,2
1- 3- (kW) (0] 40 60 80 100 120 140 160 170
1x230V | 3x400V )
HP | kW | 1~ | 3- | 50Hz | 50Hz
P 7-100/2 P7-100/2T 1 0,75 0,97 0,9 4.4 1,7 248 | 234 | 220 | 205 18,7 16,3 13,6 10,2 8,3
P 7-120/3 P7120/3T 1,2 0,9 1,32 1,3 5,9 2,6 36,7 | 340 | 320 | 296 | 265 | 230 | 186 | 138 1,0
P 7-180/4 P7-180/4T 1,8 1,3 1,83 1,71 8,3 3,2 495 | 474 | 453 | 425 | 392 | 34,8 | 294 | 226 | 16,9
P 7-250/5 P 7-250/5T 25 1,85 2,39 215 10,9 4,2 626 | 60,6 | 582 | 551 511 458 | 39,0 | 298 | 215
P 7-300/6 P7-300/6 T 3 2,2 2,68 2,63 12,2 5,0 74,8 715 | 683 | 645 | 593 | 53,0 | 446 | 345 | 26,7
- P7-350/7T 15 2,57 - 2,8 - 51 890 | 880 | 858 | 812 | 745 | 66,3 | 56,2
TYPE AMPERE Q (m?/h - I/min)
P1 0 36 | 48 6 72 | 84 | 96 (108 | 12 | 13,2 | 14,4
P2 1- B
1- 3- (kW) 0 60 | 80 | 100 | 120 | 140 | 160 | 180 | 200 | 220 | 240
1x230V | 3x400V H (m)
HP | kW | 1~ | 3- | 50Hz | 50Hz
P 9-100/2 P 9-100/2T 1 0,75 0,98 0,92 4.4 1,7 23,01209|20,0| 191 | 179 | 166 | 150 (132 | 111 | 89 | 6,5
P 9-150/3 P9-150/3T 1,5 1,1 143 1,38 6,7 2,8 352|326 |315(30,3(28,8|26,9 (245|215 | 18,3 | 14,7 | 10,8
P 9-200/4 P 9-200/4 T 2 15 1,88 1,77 8,4 3,3 471 |43,5142,0|40,5|38,3|35,7 324|284 238|189 | 13,3
P 9-250/5 P 9-250/5 T 2,5 1,85 2,32 218 10,6 4.3 592 (544|524 |504| 479 448 |40,5|355 (298|235 | 16,3
TYPE A Q (m3/h - I/min)
p2 P1 (0] 6 7,2 9,6 12 14,4 16,8 19,2 21,6 24 25,2
3. (kW) 3= 0 100 120 160 200 240 280 320 360 400 420
3x400V
HP | KW | 3~ | 50Hz )
P 18-180/2T 1,8 1,3 1,52 3 23,1 214 21,0 19,9 18,4 16,7 147 121 97 7,0 55
P18-250/3 T 25 1,85 219 4.3 35,0 32,7 32,2 30,5 28,3 2515 22,8 19,3 15,1 10,8 8,7
P 18-400/4T 4 3 3,0 5,8 471 45,4 45,2 443 42,6 40,0 36,0 30,6 24,6 17,8

g 143



PLUS

0 Qlimpg.p.m.]

4

0 . . 8 . 12 . % 0Q[impgpm] 5 10 15 20 25 30
0Q[USgpm] 4 8 12 16 20 0Q[USgpm] 8 12 16 20 24 28 32 36
T U P TTTT]
i
™~
T P3 oL P5 |
~ 250
™~
8 T~ 200 70
™~ \
™~
™~ N 60 200
50 ~5 Il \
~ ~_ 150
~ N
—_ T~ ™~ N - = 50 —_
£ 4 ™~ E E 150 E,
E 40 . ] E E =
T T ~_ \\ N Tz, T
30 ~8_ —— S 100
—
\\\\\ \\\ \\ . \ 30 S 100
20 2 \\\ \\ ™~ \ R \\\\\\ \\\ \\\
L L2 |
\\\\\ \\\ ~_ ~_ 20 —— EERE ~ _y ™~
\\\\\ \\\ \\\ 50 *‘~~~§§§§ \\\\ \\\ 50
T —— I T ~ N
10 i A 0 — N~ N\
— 1 \\\\\:\\\
~
0 0 0 0
0Q[m¢/h] 1 2 3 4 5 0Q[m*/hl4 2 3 4 5 6 7 8 9
0Q[I/min] 10 20 30 40 50 60 70 80 0QL/min] 29 40 60 80 100 120 140
50 60
40 50
— [ = = — — 40 Ll T ——— L]
9 30 — X 20 =
s 20 T s
10 10
0 0
0Q[m¥/h] 1 2 3 4 5 0Q [m*/h]4 2 3 4 5 6 7 8 9
10 30 s 27
- 8 = = =
|§ 6 20 E. |§ 6 18 El
F F I 4 F
g 2 2 — o &
z, — 0z z Ll —1 z
0 0 0 0
0Q[m/h] 1 2 3 4 5 0Q[m¥h]1 2 3 4 5 6 7 8 9
0Qlimpgpm] 6 12 18 24 30 36 0Qlimpgp.m] 1o 20 30 40 50
0Q[USgpm] 8 16 24 32 40 0Q[Usgpm] 10 20 30 40 50 60
100 T 70 \
wof P7 |0 PO |
1 60l 5 200
—
80 o T—
S~
.6 ~ 250 ~—_
S I e T~ 50 T~
— \ 4
5 \\\\ ™ — ™~ 150
© L5 | L — N 200 \\\
—— ~_ \\ 40
£ 4 — ~ EE . ™ E
E 50—t E £ — E
T T NN 50T T [ ™ 100"
40 R N~ N 30 -
—-3 T~ N T~
30 I S~ 100 e T~
5 —— \\ 20 —
| \\\ ~ ~—— \ 50
20 —— L ~——_
T \\\\\\\\ ™ 50 0 T~ N
. ~
10 == =~ \\
0 0 0 0
0 Q[m/h] 2 4 6 8 10 0 Q[m/h] 3 6 9 12 i
0@ [/min] 29 40 60 80 100 120 140 160 180 0 Q[I/min] 50 100 150 200 250
60 70
50 . ] 60
_ 40 ~ _50
X L 40
2 30 S0
o o
20 20
10 10
0 0
0Q[m/h] 2 4 6 8 10 0Q[m/h] 3 6 9 2 15
8 6
18
- 8= = —_
E° E E 2 &
T 5
T 4 — b i, , 8
22 = 6 2 2 6 Z
0 0 0 0
0Q[m/h] 2 4 6 8 10 0Q[m/h] 3 6 9 12 15



50

40

30

oQlimpgp.m] 20

40

60

80

0Q[USgpm] 20 40

60

80

100

/ v
=N
(o)

160

120

PLUS

F X
20
40
10
0 0
0 Q[m?/h] 5 10 15 20 25
0 Q[I/min] 100 200 300 400
80
70
60
— 50 /’_\
&40
=30
20
10
0 : : : : :
0 Q[me/h] 5 10 15 20 25
8
20
E° 5 E
z 4 10 E
22 5 Z
0 0
0 Q[m¢/h] 5 10 15 20 25
LOTS
TRUCK CONTAINER
TYPE
PALLET (cm) N° pumps PALLET (cm) N° pumps
P 3-50/2-90/4 80x120x150 84 80x120x175 96
P 3-100/5-120/6 85x110x160 70 85x110x185 80
P 3-150/7 80x120x150 42 80x120x175 49
P 5-70/2 80x120x150 84 80x120x175 96
P 5-80/3-120/4 85x110x160 70 85x110x185 80
P 5-150/5 90x110x150 54 90x110x170 63
P 5-180/6-200/7 80x120x150 42 80x120x175 49
P 7-100/2-120/3 85x110x160 70 85x110x185 80
P 7-180/4-250/5 90x110x150 54 90x110x170 63
P 7-300/6 T 80x120x150 42 80x120x175 49
P 7-300/6 M-350/7 T 80x120x145 35 80x120x170 42
P 9-100/2 85x110x160 70 85x110x185 80
P 9-150/3-200/4 90x110x150 54 90x110x170 63
P 9-250/5 80x120x150 42 80x120x175 49
P 18-180/2-250/3 90x110x150 54 90x110x170 63
P 18-400/4 80x120x145 35 80x120x170 42

Q

145



PLUS

DNM

DNA
©) ®
IN =
q o B
A L
—z DIMENSIONS (mm)
A B [ D E F G L H1 H2 |DNA|DNM
P 3-50/2 166,8 103 333 164 140 178 190 93,7 128 192 6,5 ‘ T6
P 3-70/3 166,8 103 333 164 140 178 190 93,7 128 192 7
P 3-90/4 190,8 127 357 164 140 178 190 93,7 128 192 8,5
P 3-100/5 214,8 151 404 164 140 178 203 104,7 128 192 10,5
P 3-120/6 238,8 175 428 164 140 178 203 104,7 128 192 1,5
P 3-150/7 262,8 199 483 164 140 201 211 128,2 134 198 re | ra 14,5 ‘ T14
P 5-70/2 166,8 103 333 164 140 178 195 93,7 128 192 7
P 5-80/3 166,8 103 357 164 140 178 203 93,7 128 192 9,5 ‘ T10,5
P 5-120/4 190,8 127 380 164 140 178 203 104,7 128 192 1"
P 5-150/5 214,8 151 436 164 140 201 21 128,2 134 198 13,5
P 5-180/6 238,8 175 459 164 140 201 21 128,2 134 198 15 T14
P 5-200/7 262,8 199 483 164 140 201 21 128,2 134 198 B85 T15
B
DNM r
U
A @
s IS} (eXe)|
B A
IN = OOU 2
= (o) 8
e ]
A L 0
— iz DIMENSIONS (mm)
A B [ D E F G L H1 H2 |DNA|DNM
P 7-100/2 166,8 103 356 164 140 178 203 104,7 92 192 10
P 7-120/3 166,8 103 356 164 140 178 203 104,7 92 192 10,5
P 7-180/4 190,8 127 44 164 140 201 21 128,2 98 198 14 T13
P 7-250/5 214,8 151 436 164 140 201 21 128,2 98 198 "14G| "G 16 T15
P 7-300/6 238,8 175 503 164 140 201 229 148,2 103 203 18 T16
T 459 T 211 T128,2 T98 T198

P 7-350/7 262,8 199 567 164 140 201 229 148,2 103 203 215
P 9-100/2 185,8 18 375 164 140 178 203 104,7 98 192 10
P 9-150/3 185,8 118 375 164 140 201 211 128,2 98 198 PGl TG 13
P 9-200/4 215,8 148 436 164 140 201 211 128,2 98 198 15 T14
P 9-250/5 245,8 178 464 164 140 201 211 128,2 98 198 16 T155
P18-180/2T 201 141 432 164 140 201 21 128,2 98 198 13
P 18-250/3 T 238,5 141 432 164 140 201 211 128,2 98 198 2°G |[1"%G 15
P 18-400/4 T 276 178,5 554 164 140 201 229 148,2 103 203 24

146




PLUS (S) Serie-Mechanical seal and bearings

MECHANICAL STANDARD
SEAL PUMP MODEL SHAFT @ MATERIAL OPTIONAL
P3-50/2, P3-70/3, P3-90/4, P3-100/5, P3-120/6, P5-70/2, Rotating face Graphite SiC
P5-80/3, P5-120/4, P5-150/5, P5-180/6, P7-100/2, P7- . . .
120/3, P7-180/4, P7-250/5, P7-300/6, P9100/2, P9150/3, | 4mm/$ Stationary face Ceramic Sile
@ P9-200/4, P9-250/5, P18-180/2, P18-250/3, P18-400/4 Elastomer EPDM EPDM
o Rotating face Graphite SiC
P3-150/7, P5-200/7, P7-350/7 14mm Stationary face Ceramic SiC
Elastomer EPDM EPDM
BEARINGS PUMP MODEL TYPE
P3-50/2, P3-70/3, P3-90/4, P5-70/2 6201-ZZ 6202-ZZ
P3-100/5, P3-120/6, P5-80/3, P5-120/4, P7-100/2, P7-120/3, P9-100/2 6202-Z2Z 6302-ZZ C3
P3-150/7, P9-150/3, P18-180/2 6204-2Z 6304-ZZ C3
P5-150/5, P5-180/6, P5-200/7, P7-180/4, P7-250/5, 3~ P7-300/6, P9-200/4, P9-250/5, P18-250/3 6203-Z2Z 6304-ZZ C3
1~ P7-300/6, P7-350/7, P18-400/4 6203-ZZ 6305-ZZ C3

152




PLUS (S)+VSD

Horizontal booster pump with variable speed

DESCRIPTION

Horizontal pump of PLUS series provided with the single-phase variable speed drive EPIC. This booster pump assure the
desired pressure regardless changes on flow demand making it suitable for low or missing pressure in domestic systems.

Membrane tank downstream the system is required.

FEATURES

« EPIC variable speed drive provided on board

 Horizontal pump of PLUS series

* Pressure sensor
« Cable with plug

FUNCTIONING

If the pressure in the network drops the pump will starts and gradually speeds up to provide with the set pressure. When
the water demand decreases, the pressure will rise causing the pump speed to slow down and eventually to stop the pump
if demand ceases. The pump will remain on standby waiting to start at the next water demand.

SELECTION

The table below shows the horizontal PLUS pump models available for the assembly with EPIC. Consult the catalog at the

PLUS series for pump specifics and characteristic curves.

PUMP vSD
PLUS PLUS S TYPE : Power system
in out
P 3-50/2T P 3S-50/2T EPIC 1~ 3~
P 3.70/3T P 35-70/3T EPIC 1 3
P 3-90/4T P 3S5-90/4T EPIC 1~ 3~
P 3-100/5T P 3S-100/5T EPIC 1~ 3~
P 3-120/6T P 3S-120/6T EPIC 1~ 3~
P 3-150/7T P 3S-150/7T EPIC 1~ 3~
P 5-70/2T P 5S-70/2T EPIC 1~ 3~
P 5-80/3T P 5S-80/3T EPIC 1~ 3~
P 5-120/4T P 55-120/4T EPIC 1~ 3~
P 5-150/5T P 5S-150/5T EPIC 1~ 3~
P 5-180/6T P 5S-180/6T EPIC 1~ 3~
P 5-200/7T P 55-200/7T EPIC 1~ 3~
P 7-100/2T P 7S-100/2T EPIC 1~ 3~
P 7-120/3T P 7S-120/3T EPIC 1~ 3~
P 7-180/4T P 7S-180/4T EPIC 1~ 3~
P 7-250/5T P 7S-250/5T EPIC 1~ 3~
P 9-100/2T P 9S-100/2T EPIC 1~ 3~
P 9-150/3T P 9S-150/3T EPIC 1~ 3~
P 9-200/4T P 9S-200/4T EPIC 1~ 3~
P 9-250/5T P 9S-250/5T EPIC 1~ 3~
P 18-180/2T P 18S-180/2T EPIC 1~ 3~
P 18-250/3T U 18S-250/3T EPIC 1~ 3~

[}

153



